ISCED and analysing Internationally
recognised Indicators

Adapted from the SPC Training Course for the
Analysis and Reporting of Data from

Education Management Information Systems
(EMIQ)



http://www.unicef.org/
http://www.unicef.org/
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Intended Outcomes

Analysing Data: Education Indicators
Gain and understanding how to calculate and analyse key
International Indicators that:
- Measure access to education
. Measurethe coverage of the schoolagepopulation
- Measure how pupils flowthrough the education system
Gain an understanding about levels of education used to make
International comparisons

Gainan understanding how to use indicators to make
comparisons with schools, targets and historical data

. Examples of School Reportard

Review international indicators that could be adopted in your
school report card



“Examining Trends

Education Statistics are sometimes used to examine
trends

To establish if a trend exists we see the trend move In
one direction over three or more years

In which figure below can we see a trend?

Figure 5: ECCE pupil: teacher ratio, 2012-2014 Figure 35: NYEE results, 2003-2014
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Measuring access teducation

Educational planners are concerned with estimating the
number of places that will need to be provided for
students at various levels in the education system.

In -take rate

Accesdto the first level of education Is measuredby the
proportion of children admitted relative to the total
child population eligible for enrolment at that level

Transition rate

Accessto subsequent levels of education is measure@ly
the proportion of children admitted, relative to the
number of those who were, the year before, in the final
school-year of the preceding level.



y Enrolment num

IS alONe ale€

not enough to measure intake?

2012 2013

Number of Pupils in Primaryrl 1,000 1,100
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1,200
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1,100
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2014
1,200

Number of Pupils and % of Pupils in Primary Yeéﬁof

2012 2013 2014

mmmm Number of Pupilsin Primary =% (GER)

100%
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40%

20%

0%

Primary Enrolments
appear to be improving
However, when we
consider the number of
children who are of the
official age for primary,
we can see a smaller
proportion of children are
enrolling in school,
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In-take rate N

There are tworates that are commonly used for measuring
enrolment admission in the first grade of a level:

. Grossin-take Rate (GIR)
- Net In-take Rate (NIR)

Both GIR and NIR provideuseful insights into admission
processesput NIR is capable of providing more
meaningful information

Note: Calculation of NIR is dependent on agerelated data
being availablewhereas the GIR does not
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‘Gross irtake rate(GIR

GIR identifies the number of children newly admitted to
the first year of school as a percentage of children who are
entitled to admission

The age at which children are supposed to starschool is
referred to as theofficial age of admission.

If the GIR is greater than 100 it could be that many children
start school at the wrong age or are repeating a year

Grossin-take rate (%) =
No. of new gug)ils In Gr
? Bonuatior D0
opulation of admissio

el oo
n age

What was the 2014 Tuvalu Intake rate?
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Net intake rate (NIR

NIR identifies the number of newly admitted children of admission age
as a percentage of the total number of children of the same age in the
population

Net in-take rate (%)=

No. of hew pu;ails In Grade 1 of admission age
plner ol b bR et sy Dl Y
Population of admissionage

If we what to find the % of out-of-school children who are of the
correct admission age

= X NIR.
Therefore, if the Tuvalu NIR = 56%.4% of 6 year olds are out of school



lllustration of GIR and NIR

Iﬂlﬂl%ll@]l@]l%]lﬂlillﬂlﬂ-

T :

in

Grade 1
GIR = No. of new pupils in Grade 1 of admission age
B e S s e s s 00 =9/10=90%
Population of admission age
NIR =

No. of new pupils in Grade 1 of admission age i —Qno
A X 00 =8/10=80%
Population of admission age



}Example U

If in 2015ve havel00children in the country who are age6 - the official admission
age for Grade 1 (40 Boys and 60 Girls)

A total of 80 new pupils start grade 1 (40 Boys and 40 Girls)

T Al |GinBoy
00

6 Year olds 1

X Pupils in 80
J <D 3 Grade 1
GIR= 80/100
100children in country 80 new pupils in =
who are age (the Grade 1 School 80%

admission age for Gradel)

Gross intake rate (%) =

2 53 & BOWBUIS ) 21808 5 100 =sort00-60%
opulation of admission age



»Example \\M

If in 2015ve havel00children in the country who are age6 - the official admission
age for Grade 1 (40 Boys and 60 Girls)

A total of 80 new pupils start grade 1 (40 Boys and 40 Girls). However 70 Of these

children were 6 years old (30 boys, 30 girls)
Al i |Boy
00

- 2
What is the NIR” 6 Year olds 1

) Pupils in 70
/. @ 3 Grade 1
L = R NIR= 80/100
100children in country 70 new pupils in =
who are age (the Grade 1 School 80%

admission age for Gradel)

Net in-take rate (%) =

» 3G 9 newpuplls 1y 1805 3400 =sorao0=aoms
opulation of admission age



W: Draw a line graph to show the elow

GIR (All) 90%  100% 112%
GIR (Girl) 100%  104% 104%
GIR (Boy) 80%  96% 120%

Describe what you see. Overall, can you see a trend? Has girls or boys GIR increased t
most? Which gender has the best GIR?

Example 6: Draw aline graphs to show:

NIR (All) 90%  88% 91%
NIR (Girl) 94%  95% 96%
NIR (Boy) 82%  81% 83%

Describewhat you see. Has there bee@any sign of improvement?

What percentage of 6 year old girls are out of school?

What percentage of 6 year oldboysare out of school?

If you wanted to run a campaign to encourages year old children to enrol at school in
grade 1, should you use the campaign to encourage girls boys?



P

/

Transitionrates

For pupils around the World, the last year of a given level of

education, access to the next level of education can depend
on:

. whether accesgo the next level of educationis
automatic

. students achieving a particular level of performance in
certain examinations

- on the number of placesavailable

- Whether access isubject to regional, ethnic or other
guotas

What factors doesaccess to the next level of educatiomlepend upon in Tuvalu?
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Transitionrate

The transition rate calculates the number of new pupils
entering a given level of education as a percentage of the
pupils who were last year at the end of the previous level.

Only new pupils entering the next level of education are
given consideration; repeaters at this level areot counted

Transition rate from primary to secondary education (%) =

No. of new pupils in first grade of secondary in yeart

2222222222222 7222222°2°2 x100
No. of pupils in final grade of primary inyeartz 1



Example e
Using the table below, what is the TR for students who moved

between the last grade of primary in 2014 and the first grade of

secondary in 2015

8a) all pupils 2014 2015
8b)g irls Last Grade | First Grade Last Grade | First Grade
3 b Primary Secondary Primary Secondary
C) boys Al 200 175 190 150
Girls 50 49 45 46
Boys 150 126 105 99




=l Year |Transition rate from
primary to secondar
Male Female Total
EfP 56% 79%  66%
I 56%  73%  64%
I 64% 71% 67%

The above diagram is transition rates for Tuvalu

Draw a line graph to illustrate change for boys and girls between
2012,201® 2014

For which group (Boys or Girls) has the TR has improved the
most between these two points in time?

What trend can we see here?

If you worked at HQ, briefly discuss what action you would
consider here.
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Grade Progressiomates(GPR)

GPR measureshe extent of progression from one grade
to another

The samecohort of pupils should progress to the next
grade in the following year, though some will drop-out
or repeat grade

The original cohort of pupils may change as a result of in
or out migration, or moving between districts or regions

Grade Progressiormrate (%) =
No. of s enrolled in gr In rt

I\T ? f? 9? g QU'PI';S% ?O?ed?l'? gpa?de?l?yga? ? % x 100

0. of pupils enrolled In previous grade in year t- 1
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Using the table below, what is the GPR for students who moved

between the Grade 3 In 2014 and Gradkin 2015

9a) all pupils

9b)qirls 2014 2015

9C) bOyS Grade 3 Grade 4 Grade 3 Grade 4
All 300 175 190 250
Girls 100 49 85 90
Boys 200 126 105 160

In 2010 to 2011, the GPR between grades 3 &4 for boys 8@ and
Girls was80%.

9d)Draw a line graph to illustrate change for boys and girls betweer
2010 to 2011 and 2014 to 20157

9e)For which group (Boys or Girls) has the GPR has improved the
most between these two points in time?

of) If you worked at HQ, briefly discuss what action you would
consider here.



Promotion Rates for Two schools in Tuvalu 2014 to

= G1to G2G2 to G3G3 to G4G4 to G5G5 to G6 G6 to G7
Primary
School A 76% 76% 33% 68% 65% 50%  Discuss: If you were a head
Girls 719 80% 50% 100% 50% 43% teacher of one of these
Boys 80% 71% 18% 56% 77% 57% schools, what action would
Primary you take?
School B T7% 79% 86% 62% 71  50%
Girls 75% 83% 73% 50% 71 64%
Boys 80% 71% 100% 73% 71%  36%
School A Grade Progression Rate 2014 to 2015 School B Grade Progression Rate 2014 to 2015
120% 120%
100% 100%
80% 80%
60% 60%
40% 40%
< 10T ok TR O - I 1 Th
0% I 0%
G1to G2 G2to G3 G3to G4 G4 to G5 G5 to G6 G6 to G7 G1to G2 G2 to G3 G3to G4 G4 to G5 G5to G6 G6 to G7

M Primary School A ® Girls ™ Boys B Primary School B m Girls ™ Boys
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Measuring the coverage of the

schoolagepopulation

Governmentsare concernedto ensure that those
students who start studying in a particular level,
continue schooling to completion of that level.

Enrolment ratesindicate the number of children
enrolled in education as a proportion of the
population of related school age:-

. grossenrolment rate
. net enrolment rate




